
                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

VL4000 BeamWash Parts List

Item Description
10.9698.0335 DAMPER, MOTOR SHAFT, 5MM, PRISM/FROST/ZOOM

10.9704.0628 LIGHT SEAL, FIN ASSY, HEAD

10.9704.0641 FILTER, FOAM, HEAD INLET, HEAD

10.9704.0693 CLAMP, CONN, 5 DRIVER BOARD, MULTIPLE LOCATIONS

10.9704.1842 AIR FILTER, UPPER ENCLOSURE, UPPER ENCLOSURE 

22.9704.0453 ASSY, STROBE BLADE, STROBE LEFT

22.9704.0454 ASSY, STROBE BLADE OPPOSITE, STROBE RIGHT

23.9704.0001 FAN ASMB, VL4000 ELCOSURE, UPPER ENCLOSURE 

23.9704.0003 FAN ASMB, VL4000 LAMP TIP & BASE, HEAD

23.9704.1002 FAN ASMB, VL4000 INLET, HEAD

23.9704.1004 FAN ASMB, VL4000 COLOR BLKHD BLOWER, COLOR

25.9687.0020 SWITHC, SLOTTED OPTICAL, PRISM/FROST/OPTICS

25.9704.0830 POWER CON, NEUTRIK AC INPUT NAC3MPX TYPE, UPPER ENCLOSURE 

42.9704.0150 REFLECTOR, PRIMARY, HEAD

42.9704.0151 REFLECTOR, RETRO, HEAD

52-0406 #THERM PAD, VO GAP PAD ULT-SOFT .45 X .625", PAN/TILT DRIVER BOARDS

53.2008.0008 NUT, #8 PUSH, YOKE COVERS

53.5636.0375 SCREW, 6-32 X 3/8" PFSS BL, UPPER ENCLOSURE 

53.6520.0001 SCREW, 4-40 X 3/8" PPZ, 5 WAY BOARDS

53.6521.0001 SCREW, 032 X 1/2 ppb, YOKE COVERS

53.6552.0001 SCREW, 8-32 X 1/2" PFZ, UPPER ENCLOSURE 

53.6558.0009 SCREW, 6-32 X 3/8"LG PPZ SEMS, MULTIPLE LOCATIONS

53.6613.0008 SCREW, 6-32 X 1/2" LG PPZ SEMS, PFC/LAMP DRIVER

53.6659.0002 SCREW, 2-56 X 1/4" PPZ, PRISM

53.6685.0500 SCREW, 6-32 X 1/2", PPB, CAPTIVE, HEAD COVERS

54.2057.0003 BELT,MXL,TIMING, 144T80-012 NKA SIL, PRISM

54.9698.0002 BELT, TIMING MXL 150 GRV .125 WD URETH/KEVLAR, GOBO/COLOR

54.9698.0224 BELT, TIMING S2M 210GRV 15MM WIDE URTH/KVLR, PAN/TILT  

54.9704.0135 BELT,MXL,TIMING,SDPA6B16155018, ZOOM

54.9704.0290 BELT,MXL,TIMING,SDPA6B16155012, GOBO

54.9704.0390 BELT,MXL,TIMING, SDPA6B16106012, COLOR

54.9704.0392 BELT, TIMING MXL 225 GRV .125WD SIL/KEV, ANIMATION

http://www.lightparts.com/


                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

54.9704.1390 BELT,MX.TIMING,SDPA6B16102012, GOBO

54.9704.1570 BELT, TIMING, MXL, 350 GR, .118 +/- .010" W, UR/KV, SHUTTER

55.2203.0001 SCREW, 4-40 X 1/4" PPZ, 5 WAY BOARDS

55.2233.2003 DZUS RAPIER 1/4 TURN STUD RETAINER, 5MM, HEAD

55.2233.2005 DZUS RAPIER 1/4 TURN STUD, 5MM, 12MM LG, HEAD

55.2233.2006 DZUS RAPIER SNAP-IN RETAINER, HEAD

55.2270.0007 RUBBER FAN MOUNT, FM-7 TYPE, UPPER ENCLOSURE 

55.2288.0001 STANDOFF, 1/4" HEX6-32 .813LG MF, MCB MOUNT

55.6538.0002 WASHER, #6 NYLON NATURAL, UPPER ENCLOSURE 

55.6568.0130 SPRING, EXTSN .188 OD .022 WD 2.00 LG, MW, PRISM/FROST

55.6677.0050 WASHER, FLAT .129 ID .270 OD .031 THK, TEFLON, PRISM

55.6818.0002 STANDOFF, 45 DEG NYLON 6/6 KUR, MULTIPLE LOCATIONS

65.9704.0001 BATTERY, 3.2V LIFEPO4 RECHARGABLE LFP-14505, UPPER ENCLOSURE 

69.9704.0300 P.S., 36VDC, 300W LVS, 10-0661RC

69.9704.1400 1200/1400W LAMP DRIVER, 10-0659RC

69.9704.2450 2035W PFC (1200W/1400W LAMP), 10-0658RC

71.8101.0050 LAMP SOCKET, BENDER & WIRTH PJG50, HEAD

S17.9704.0904 #BD ASMB SM, VL4000 SENSOR, HALL, IRIS, PRISM/GOBO/COLOR

S17.9704.0905 #BD ASMB SM, VL4000 HALL SNR, GOBO 1 INDEX, GOBO

S17.9704.0906 #BD ASMB SM, VL4000 HALL SNR, GOBO ANI MOD., ANIMATION

S17.9704.0910 #BD ASMB SM, VL4000 PAN MAGNETIC ENCODER, UPPER ENCLOSURE 

S17.9704.1911 #BD ASMB SM, VL4000 TILT MAG ENCODER, YOKE

S21.9687.2500 ASSY, SENSOR, COLOR BULKHEAD, ANIMATION

S21.9704.0411 ASSY, BELT 210 GRV, COLOR

S21.9704.0412 ASSY, BELT 240 GRV, COLOR

S21.9704.0764 ASSY, TILT MOTOR W/PULLEY

S21.9704.0880 VL4K MCB/ DISPLAY CONTROL ASSY

S22.9704.0630 UV GLASS ASSEMBLY, HEAD

S22.9704.3820 VL4K PAN MOTOR / PULLEY ASSY

S24.9664.4895 #BD ASMB, VL1100 DMX INPUT

S24.9678.3240 #BD ASMB GOBO POSITION/COLOR, GOBO

S24.9698.1231 PCB ASSEMBLY, SENSOR, COLOR

S24.9704.0903 PCB, QUAD COLOR OPTICAL SENSOR, COLOR

S24.9704.1126 #BD ASMB, VL4000 IGNITER

http://www.lightparts.com/


                 
 2507 HOWARD LANE, AUSTIN, TX 78728  
 WWW.LIGHTPARTS.COM 

S24.9704.1902 #BD ASMB, VL4000 9WAY MOTOR DRVR

S24.9704.1907 #BD ASMB, VL4000 PAN MOTOR DRVR

S24.9704.1908 #BD ASMB, VL4000 TILT MOTOR DRVR

S24.9704.1913 #BD ASMB, VL4000 7WAY MOTOR DRVR

S24.9704.2901 #BD ASMB, VL4000 5WAY MOTOR DRVR

S24.9704.2909 #BD ASMB, VL4000 POWER DISTRIBUTION

http://www.lightparts.com/

